Balancing Nuclear Equations Worksheet
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Answer Key




IV. BALANCING NUCLEAR EQUATIONS:

ass Aumbers must be FEQUAL on both sides!
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1. Write a nuclear equation showing the radioactive decay of polonium-218 if the decay
produces an alpha particle.

2y Pb
218pg » 32~ + JHe

2. What type of nuclear radiation is produced when polonium-212 decays to produce lead-208?
22po  28ph + _2 He

3. What will decay to produce lead-206 and an alpha particle?

Z10 P
84 ° - 206pp 4 4He

4. Write a nuclear equation showing the radioactive decay of carbon-14 if the decay produces a
beta particle. 19 o ey
He-o 1N+ fe

5. What type of nuclear radiation is produced when potassium-43 decays to produce calcium- i

©
k-2 + fica

6. What will decay to produce protactinium-234 and a beta particle?
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